
X-sect = 5.255E-03(pb)   AVG = 1.010E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 5.295E+02   RMS = 1.572E+02
Tot # Evts =   50000  Entries =   48073  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.062E+02   RMS = 5.410E+01
Tot # Evts =   50000  Entries =   46860  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 7.785E+01   RMS = 4.303E+01
Tot # Evts =   50000  Entries =   47535  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 7.759E+01   RMS = 4.292E+01
Tot # Evts =   50000  Entries =   47532  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 5.616E+01   RMS = 3.880E+01
Tot # Evts =   50000  Entries =   48973  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 5.614E+01   RMS = 3.883E+01
Tot # Evts =   50000  Entries =   48961  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG =-2.205E-03   RMS = 1.349E+00
Tot # Evts =   50000  Entries =   49988  Undersc =     4  Over



X-sect = 5.255E-03(pb)   AVG =-5.395E-03   RMS = 1.352E+00
Tot # Evts =   50000  Entries =   49991  Undersc =     7  Over



X-sect = 5.255E-03(pb)   AVG =-5.355E-03   RMS = 1.351E+00
Tot # Evts =   50000  Entries =   49968  Undersc =    17  Over



X-sect = 5.255E-03(pb)   AVG = 4.124E-03   RMS = 1.369E+00
Tot # Evts =   50000  Entries =   49977  Undersc =    13  Over



X-sect = 5.255E-03(pb)   AVG = 1.821E+00   RMS = 8.831E-01
Tot # Evts =   50000  Entries =   48962  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.858E+00   RMS = 8.769E-01
Tot # Evts =   50000  Entries =   48893  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.435E+00   RMS = 8.720E-01
Tot # Evts =   50000  Entries =   49463  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.446E+00   RMS = 8.727E-01
Tot # Evts =   50000  Entries =   49464  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.870E+00   RMS = 8.745E-01
Tot # Evts =   50000  Entries =   48901  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.745E+00   RMS = 8.877E-01
Tot # Evts =   50000  Entries =   49098  Undersc =     0  Over


